i B Easter eggs 04

Jan shows Padraig one half from each of four Easter eggs. Padraig can see the shell of two
of them (one white, one purple) but cannot see what is inside. Padraig cannot see what
colour shells the other two have, but can see what they have inside (one has a gift, one is

empty).

Jan makes the statement that every purple egg has a gift inside.
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Which option allows Padraig to know for sure whether Jan is telling the truth?

A. Turn eggs 2 and 3
B. Turn eggs 1 and 2
C. Turn eggs 3 and 4
D

. Turn eggs 2 and 4
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